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Ti-84+ GC 36 Finding Values of a Sequence Using Lists

Objective:  Use the sequence operation from 2™ function LIST to calculate terms in a sequence

LIST will do many things, but we're using only the sequence operation, called seq( in this exercise.
The seq( operation requires four inputs:

1. expression to be evaluated,

2. the index variable used in that expression,

3. the starting value of the index variable, and

4. the ending value of the index variable.
These four are listed one after the other, in order, separated by commas.

Example 1: What does seq(1/n, n, 1, 4) > frac do?
Answer: [t displays the sequence {1%%%}

4‘\

Example 2: Calculate the first 10 terms of a sequence whose general term is a, = %D— and write
n

the results as reduced fractions (exact answers).

Open LIST, then select middie menu OPS:

égem OPS MATH MES , |
r )
Lz = New G
Sl dimg - /
4= L"| - 'L{»\
55L5 u «;
6:Ls Exppe SR
' Vs avalis
Select option 5 for seq( o
HANES E? HATH | [se=C LTAT -
PSort o
2:SortDf{ Zad
HRe 7 .
tFi Stoy (o
?seq( Vo A ({ qmv‘,%Q
5 ’ s cumSum( o {
~ Fhalist( ” (S T el L'"é, PDydsy ENTRA

Type the four inputs: (keystrokes and images on next page)

1. Type the algebraic expression for the general term, a, = (_31) , followed by a comma.
7

2. Type the index variable N and a comma.
3. Type the starting value of the index variable, 1, and a comma.
4. Type the ending value of the index variable, 10, and close the parentheses. Press ENTER.

The result is a list of decimals separated by spaces. Use the right arrow to see the entire list.
Copyright 2011 by Martha Fidler Carey. Permission to reproduce is given only to current Scuthwestern College instructors and students.
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Teeall 13 H-C3N3. |
. B

sedqlt -1 "N/ CaNJ - sealt -1 3 N CaNY»
H.1-0 H-1:1850

2NsC3HD S
333333 ...

Using the right arrow shows lengthy decimals, which are pretty annoying:

sedqC( ~1 3 NAC3NY S | ses(C 1D NAC3ND S | [seadl -1 3 N/ (3M2,
Mz1,183 Mz1,18) N.1,18)
o « 1666EEBEET .. i? 1111111111, i1 B833333333 ..

etc.

Convert decimal to fractions as usual: MATH menu, option 1, >Frac.

gey({ -1 2N C3M,
M 3

1,18
.1 JBB33333333 ..
Ans*Frac

{-1/3 176 -1-9 ..

ENTER | | ENTER

Again, use the right arrow to move through the list.

Answer:;
{Jl_li_Ll_g_L“Li
3767 97127 157187 21°24° 27’30

Copyright 2011 by Martha Fidler Carey. Permission to reproduce is given only to current Southwestern College instructors and students.



Math 70 Word problems for Sequences

1) The amount of weight, in pounds, a puppy gains in each month of its first year is modeled by a
sequence whose general term is a, = n+ 4, where n is the number of months since the puppy’s birth.

a. Write the first five terms of the sequence.

N = { ﬁ_i I A 5-
Ne o A, Xt Db
P o e -
i 'JW:L‘

L

o [56.,54)

b. How much weight should the puppy gain in its 5™ month?

7
SIS
)

Z o o vn-+ Du’op/ st oul quw\ ?'/.\ ol naear .

P

2) Mrs. Laser agrees to give Mark an allowance of $0.10 on the first day of a 14-day vacation, $0.20 on the
second, $0.40 on the third, etc.

a. Write the general term of this sequence
A= 10 = Gw)(1) = C -3 $o) °) — —
Az= .20 = (19)(2) = (10y(2') a,=(10)(2) |
Ay :D - :“"otﬂ(-ﬁ g \,!.),\ 2”) - - ~)
A= 52 2 Gop(3) = (103l

b. Find the allowance Mark will recelve on the last day of vacation.

| A - : /”“N{‘V TN

Fin &( ((”)) J } E\W@LHMK ~ p@‘“}, \
,Q lo><“" ) { Ce\ﬁer\ »wnoma& v Dy

Q OX%M 3 Mank's \/\/:o*tto o 15 \/emér v

e TN %QMQ w . A _

[ $319.2 E e
3) The number of cases of an i ectlous isease is doubling every year so that the number of cases is
a, =75(2)"" where n is the number of the year just beginning.

a. Find how many cases there will be at the beginning of the 6™ year.

-2 i - [ b
=75 (=)
=7 f:;zw. ‘‘‘‘‘‘

= Eﬁo@ Case 1{

b. How many cases were there aiTle beginning of the first year?
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a': "9\
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> T AT sE

g
gt

az.’. = 3 = L++3 = ajrg::_ ‘al.,‘,g ‘3)4’3 — al+3(3)
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Nn= [ Cf?; = -

N="72 Az = Ay-+3

n=73 An = o+ 2(3)

n=4 Ay = Ay +3(’5) nobice a co%n‘*’i‘/lﬁ Ppaiteran
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595{“:@,4-0);»/),3 = {—;4—3(&—/)‘; or ~xtIn -3 =] '1*37)}
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